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Objective Question

S1 80001 1 WWirth is known for which coneept?

1. Primate City
2. Rural Urban Continuum
3. Central Place
4, Conurbation
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Objective Question

32 80002 cyjtural Eutrophication is caused by which of the following ?

1. Sediments brought by a tributory stream

2. Nutrients brought by a tributory stream

3. Nutrients added into the water bodies by anthropogenic factors
4. Due to abundance of Plankton organisms

e avu AR & & e & grI g 2

. T HETe% SAYRI §RI WY T STHIG] & DRI

. T HEHe SYRI GRI €Y 7 TN & HRUI

3. OFa-d FR®I gRI W= 8 oHT fhT Oi¥e dedl & PRI
4. AP Wil B FERAI B DR

[

Al
A2
A3

Ay
4

Objective Question

33 180003 wWhich of the following scholars argued for humanistic geography?

. Soja

. Smith

3. Yi-Fu-Tuan
4, Schaefer
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Objective Question

34 180004 which one of the following colours is not a part of the rainbow?

1. Violet
2. Grey

3. Orange
4. Red
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Objective Question

55 80005 e idea/concept of 'spatial margins of profitability' in context of industrial location theories was propounded by

1. A Losch

2. Pred

3. D.M. Smith
4, Walter Isard
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Objective Question
3680006/ 1) which of the following countries of the world. the farming is severely restricted by climate ?
1. Mexico
2. Spain
. Canada
. China
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Objective Question

37 80007 Which of the following is used to represent the geographical data on chorochromatic maps?

1. Colours
2. Lines
3. Points
4, Pictures
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Objective Question

58 180008 w6 wrote the essay entitled 'Trying to Selve the Monsoon Riddle' in relation to mechanism of monsoon?

1. Rama Sastry
2. Menon

3. Krishna

4. Parthasartahy
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Objective Question

3980009 w6 wrote the book Tllustration of the Huttonian Theory of the Earth' ?

1. James Hutton

2. Bowman

3. Vidal de la Blache
4. Tohn Playfair
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Objective Question
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60 180010 which one of the following was introduced by W. Arnold?

1. Spatial processes of plant ecology in settlement dispersion study
2. Monte Carlo technique to the evolution of settlement

3. Utopian social and political thinking affect on settlement network
4. Place name analysis in the settlement study
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Objective Question
61

80011 Organisms with 'r-selected’ growth patterns tend to occupy which tropic level in their ecosystems?

1. Low trophic level

2. High trophic level

3. Middle trophic level

4. Very high trophic level
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Objective Question
62 80012
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Bay of Fundy is located along the coast of

. Australia
. Norway
3. Chile

4. Canada

L AT FaeRAGE |

[

Al
A2
A3

Aty

4

Objective Question

63 /80013 e approach of Funetional Organization of Space was propounded by which one of the following schools of thought?

1. British School

2. French School

3. German School
4, American School
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Objective Question
64 80014
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Which one of the following is located near Greenland?

1. Telegraph Plateau
2. Walvis ridge

3. Puerto Rico deep
4. Challenger rise
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Objective Question

65 /80015 The most widely accepted scheme of cultural realms of the world was devised by

1. Broek and Webb

2. Spencer and Malthus
3. Haggett and Chorley
4. Jones and Gregory
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Objective Question
66 80016
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Which one of the following nomadic tribes lives in northern Finland?

1. Yukaghir
2. Lapps

3. Warlpiri
4. Kirghiz
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Objective Question

67 80017 \Which one of the tollowing is the most suitable for representation of growth of population overtime?

1. Multiple bar diagram
2. Line graph

3. Pie diagram

4. Choropleth map
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Objective Question
68 80018
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Nokrek Biosphere Reserve is located in

. Odisha

. Assam

. West Bengal
. Meghalaya
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Objective Question

69 /80019 Pediplains and Inselbergs are features of the old stage of which one of the following cycles of erosion?

. Marine Cycle
. Eolian cycle

. Glacial eycle
. Karst cycle
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Objective Question
70 80020
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The migrants of second wave of Indian Diaspora went to settle in which of the following country?

1. Mauritius
2.Fij

3. Thailand
4, Canada
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1. AR
2. Tt

3. YIS
4. TSI
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Objective Question

7180021 The term Demanufacturing’ is associated with which one of the following?

. Post globalization

. Financial deficit

3. Disassembly and recycling
4. Small scale industry decline
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Objective Question
72 /80022
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The density of oceanic water is generally lowest in

1. Equatorial region
2. Sub-tropical region
3. Temperate region
4. Polar region
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Objective Question
73 |80023 Identify the scholar who was the first to report and map the Chinese coal ficlds.
1. Ritter
2. Humboldt

3. Ratzel
4. Richthofen

39 o5 o ug= S for= gduys 919 & Siadr 841 St oiHeRI 41 3R AR S5 |

1.7
2. BHlee
3. e
4. f=uw

Al
A2
A3

Aty
4

Objective Question
74 80024
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Aurora Australis pertaining to ionosphere are related to which hemisphere/region?

. Northern Hemisphere
. Greenland

. Southern Hemisphere
. Canada
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Objective Question

75 |180025 Largest number of tribal population (2011) in India is found in

. Nagaland

. Madhya Pradesh
3. Gujarat

4. Tamil Nadu
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Objective Question
76 80026
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Which one of the following is responsible for the blue colour of the sky ?

1. Rayleigh Scattering

2. Mie scattering

3. Nonselective scattering
4. Ground radiance
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Objective Question

77 80027 \Which one of the following glaciers is loeated in Pir Panjal range of Himalayas?

1. Siachen glacier
2. Biafo glacier

3. Sonapani glacier
4. Batura glacier
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4. 993 feue
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Objective Question
78 180028
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Delta formed by the Ganga river is an example of

. Bird foot Delta
. Estuarine delta
. Cuspate Delta
. Arcuate Delta
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Objective Question

7980029 Byran storm blows in which part of the world?

. North America
. South America
. South Africa

. Russia
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Objective Question
80 80030
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The long-term objective of the National Population Policy (2000) of India was to achieve population stabilization by the year

1.2045
2.2030
3.2075
4.2047
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Objective Question

81 80031 The term 'Carbon Sinks' is used for which one of the following ?

. for burning of fossil fuels
. for volcanic eruption

. for forests

4. for ammonifying bacteria
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Objective Question
82 80032
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Which one of the following represents average temperature of water at bottom in the Red sea?

1.10°C
2:91%C
3.30°C
4. 40°C
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4

Objective Question

83 180033 Which one of the following models is based on the study of human ecology?

1. Concentric zone model by Burgess

2. Innovation Diffusion model by Hagestrand
3. Mobility Transition model by Zelinslky

4. Location model by Weber
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Objective Question
84 180034
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Which one of the following surfaces has the maximum albedo?

1. Dense cloud
2. Desert

3. Bare rock

4. Tropical forest
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Objective Question

85 180035 who among the followings enunciated four stages in the evolution of space economy?

1. John Friedmann
2. Karl Marx

3. Ronald F Abler
4. August Losch
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Objective Question
86 80036
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87 180037

88 80038

In which of the following principles of regional planning each region is considered as a sub-gystem of the regional system whole?

. The prineiple of vertical unity of phenomena

1

2. The prineiple of horizontal spatial unity
3. The principle of space-time continuum
4

. The principle of comprehensive development
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Objective Question

Who described State as an organism?

1. Humboldt

2. Isaiah Bowman
3. Mackinder

4, Ratzel
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Objective Question
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Which of the following map making technique uses the intervals in arithmetic progression?

1. chorochromatic

2. dot

3. Isarithmic

4. Proportional circle
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Objective Question

89 1180039 Kumjawng pass is located in

. Sikkim

. Arunachal Pradesh
. Tripura

. Meghalaya
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Objective Question
90 80040
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When did the last Ice Age on earth take place?

1. Pliocene period

2. Miocene period

3. Pleistocene period
4. Silurian period
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Objective Question
o1 80041 The Standard error of mean is calculated on the basis of
A. Grand Mean
B. Size of the sample
C. Sample standard deviation
D. Sampling distribution of mean
E. Population mean

Choose the correct answer from the options given below:

1. D and E only
2.B and C only
.Aand D only
4. B and E only

e B S Ff B0 BT 3R BB

A TR dis o)
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c. ufaesl &1 o faae
D. 11 Wiaaa faaun

E. ST ared
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Objective Question

92 80042 wWhich of the following statements are NOT true about inter-state distribution of scheduled caste population in India (2011)?
A. Bihar has the largest number of scheduled caste population among all the major states of India.
B. Punjab has the highest percentage share of scheduled castes in its total population.

C. Maharashtra has the third largest population size of scheduled castes in India.
D. Tamil Nadu has more scheduled caste population than Andhra Pradesh.

Choose the most appropriate answer from the options given below:

1. A and B only
2.B and C only
3. C and D only
4. A and C only
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Objective Question
93 80043
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Producers in the trophic level include:

A Photosynthetic green plants
B. Photosynthetic bacteria

C. Chemosynthetic bacteria
D. Frogs

Choose the most appropriate answer from the options given below:

.A.Band D only
.B and D only

.A.B and C only
.B. Cand D only

0w WR H Saes! § gifad g :
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2. $ad B 3R D
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4. %ddB.C IRD
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4
Objective Question

94 80044 which of the following statements are true about crop-combination regions ?

A. Provides a good basis for agricultural regionalization.

B. Helps in studying agricultural productivity.

C. Helps in formulation of agricultural policy.

D. Provides a comprehensive understanding of agricultural mosaic of an agro-climatic region for planning and development of
agriculture,

Choose the most appropriate answer from the options given below:

A and B only

.A. Cand D only
3.B. Cand D only
4. A, Band C only
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Objective Question

93 80045 1 andforms associated with depositional activity:

A Sea caves and Caldera

B. Eskers and wave built platform
C. Playa and Meander

D. Arches and Plunge-pool

E. Barrier Beach and Loess

Choose the correct answer from the options given below:

A and B only
.Aand C only
B and E only
. C and E only

Rigqu TRy @ Y oy ongpfa

A TS THIY 3R SaTargEl $5
B. TR 3R a7l [AiHd wiewH
C. @ SR foud

D. 3TEN SR WUTd $58

E. a1 e oik diea
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Al

1
file:///C:/Users/Administrator/Downloads/26_Live_Geo_B2_E/26_Live_Geo_B2_E_1-150.html 62/111




6/20/23, 6:24 PM 26_Live_Geo_B2_E_1-150.html
A2
2
A3 3
3
Ay
4

Objective Question

96 180046 wWhich of the following are NOT probability sampling techniques?

A. Simple Random
B. Stratified

C. Snowball

D. Cluster

E. Convenience

Choose the correct answer from the options given below:

1. Aand E only
2. C and E only
3.B and D only
4. B and C only

PRI 5 B T wiiea fc=rdm a1 el 6 7

A YRV ATefwsd
B. ¥IPd
c. S Ed

D. 7% (F)

E. JfaurguR
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Which of the following statements are correct regarding welfare geography?

A Tt was revolutionary in theory and revolutionary in practice.

B. The basis of welfare approach is on "who gets what, where and how.”
C. It was based on positivism.

D. It is a pragmatic approach to overcome the problems of inequalities.

Choose the most appropriate answer from the options given below:

1. Aand B only
2.B and C only
3.B and D only
4. C and D only
=

g o 9 SeueR) il & de T BH U Sy 98l 82
A T8 Rigra © Siflden aur snar | sifdert 4t
B. TGR] f¥HI0 B FI1, Hol 3R P W Heal o T SMRA g

C. U8 Y&fare UR siuria 4l
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4
Objective Question
98 80048 Tpe funectioning of ecosystem depends on
A. Energy flow
B. Nutrient cycles

C. Biogeochemical cycles
D. Tidal energy

Choose the most appropriate answer from the options given below:

1. Aand D only
2.B and D only
3.A.B and D only
4. A, B and C only
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Objective Question

99 80049 Which statements are true about the benefits of World Trade Organization (WTO)?

A. Trade disputes between and among countries are handled constructively.

B. Liberalized global trade provides greater choice of products and their qualities.
C. Rules make life difficult for all.

D. The liberalized trade cuts the cost of living.

E. This system promotes conflicts.

Choose the correct answer from the options given below:

1. A. B and D only
2. A BandE only
3.C.Dand E only
4.B. C and D only

fa=a AR W76+ (S&gcieh) & i & IR § & 9 HUF 96l 82

A T 1 Y =1 & did AU fqaTe] &1 TTTe® &1 & STy [ Jai g |
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c. Fgn ge@T Sie gffsa R ad g |
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E. % 04 fdare| ! g¢lal 4l o |

Hi ST 7T fa el § 9 981 GTR &1 99 Bifelg:

1.$ad A, B IR D
2. Pdd A, BIRE
3.%dd C, D IRE
4.%adB,C3RD

Al

file:///C:/Users/Administrator/Downloads/26_Live_Geo_B2_E/26_Live_Geo_B2_E_1-150.html 65/111



6/20/23, 6:24 PM 26_Live_Geo_B2_E_1-150.html

A2
A3

Ay

4

Objective Question
100 80050 Ty characteristics of ocean water include:

A. The distribution of ocean currents is not affected by the distribution of density of the oceanic water.

B. Heat lost by the tropical oceans is the major source of heat needed to drive the atmospheric circulation.
C. Most of the heat absorbed by the oceans in tropics is released as water vapour in polar areas.

D. Less salty waters are at high latitudes.

Choose the correct answer from the options given below:

1. A and B only
2.B and D only
3. C and D only
4. A and C only

eI i o faRdrsit & wftfd © -
A TETIFRIT YR137 &7 TR0 TeMFRE wd & U & [a20] gRI HHTad 76l 61 ¢ |
B. I Picasdld TENFRI §RT %8I &1 &ffd g Soild TSR0 & Sde & iy 1a39$ 3™ & I 9 © |

C. IUTPesy H HETTRI gRT St A= =7 ydia &at & searsy & 39 ¥ Fad $I o § |
D. I &R TR o7 P qI0rT HH BN @ |
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Objective Question
10180051
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Non-structural measures of flood disaster management in India include

A. Flood zonation

B. Flood forecasting

C. Embankment construction
D. Channel improvement

Choose the most appropriate answer from the options given below:

.Aand D only
A and B only
.B and C only
.Band D only

YRd ¥ TRIRIT 918 M9 waeH Iumi o e €1
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4

Objective Question

102/80052 ywhich of the following areas are associated with South Central Highland?

A. Bundelkhand upland
B. Vindhya Scarplands
C. Rohilkhand plains
D. Narmada Valley

Choose the correct answer from the options given below:

A and B only
B and D only
3.B and C only
4. C and D only

b2 =

file:///C:/Users/Administrator/Downloads/26_Live_Geo_B2_E/26_Live_Geo_B2_E_1-150.html 67/111



6/20/23, 6:24 PM 26_Live_Geo_B2_E_1-150.html

FEARIRET & ¥ P 9 -4 Slé0 7 S=yf S eEla § e
A §5a9Us IEYH

B. fdw &RY[w
C. TeuEUS & HaH
D. FHar urel

A feu T fa e § 9 981 SR &1 994 Biferg:

A2
A3

Aty

4

Objective Question

103 80053 which of the following are true for India's National Health Poliey. 20177

A. Increase of life expectancy at birth to 70 years by 2025.

B. Increase of health expenditure by Government to 5.0 per cent of GDP by 2025.

C. Reduction in infant mortality rate to 28 by 2019.

D. Reduction of Maternal Mortality rate to 200 by 2020.

E. Reduction of total fertility rate (TFR) to 2.1 at national and sub-national level by 2025.

Choose the correct answer from the options given below:

1. A. B and C only
2.B. Cand D only
3.C.Dand E only
4. A, C and E only

YR B AP WA Hfd-2017 P SR J FEfif@d T3 S I el § 2

A. T & G Siia JeIRN &1 2025 % 70 T aF SgHI|
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Objective Question
10480054 \which of the following statements with respect to altitude of the sun and spacing of tall buildings is most relevant?
A. Buildings are usually built far apart in high latitudes.
B. Buildings are usually built closer together in tropics.

C. Buildings are usually built closer together in high latitudes.
D. Buildings are usually built far apart in tropics.

Choose the correct answer from the options given below.

1. Aand D only
2.B and C only
3.Cand D only
4. A and B only

AT & 319 ¥ Py gd B a1 SR Sl SHRd! & diE @1ell site 3@+ & oy Jaiiie Ui & 2
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Objective Question
10580055
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Ag per the Census 2011, which of the following recorded second and first rank in population growth during 2001-2011?

A. Arunachal Pradesh
B. Meghalaya

C. Mizoram

D. Jammu and Kashmir
E. Bihar

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. Cand D only
4.D and E only
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Objective Question

106 80056 Read the given statements about Tide producing forces carefully and identify the correct statements .

A. The attraction of the moon is maximum at the point which is closest to the moon on the earth's surface.
B. Distance is very important variable.

C. The attraction of the moon is minimum at the point which is closest to the moon on the earth's surface.
D. The tide-generating forces are very large in magnitude compared to the gravitational forces.

Choose the correct answer from the options given below:

. A and B only
.B and C only
. C and D only
A and D only

o =
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Objective Question

10780057 wpo among the following were the leading advoeates of quantitative revolution in Geography?

A. Semple and Ratzel

B. Mackinder and Ritter

C. Peter Hagget and William Bunge
D. Kansky and Ratzel

E. Hagerstrand and Chorley

Choose the correct answer from the options given below:

1. A and B only
2.B and E only
3. Cand D only
4. C and E only
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Objective Question

10880058 The status of salinity in Indian Ocean (in northern summer) is given below. Identify the correct statements.

A. The salinity in the Indian Ocean increases from equator to the Bay of Bengal.

B. The salinity in the Indian Ocean decreases from equator towards the Bay of Bengal.
C. The salinity in the Indian Ocean remains same in different parts.

D. The 45 */= isohaline the divide the Indian Ocean into eastern and western section.
E. Salinity is more in the Arabian Sea than the Bay of Bengal.

Choose the correct answer from the options given below:

1. B and E only
2. Aand B only
3.C and E only
4.D and E only

fes FRMITR (STt ¥ & wavrar ®i fufa =i <t s 81 6t Syl @ ugaH i)
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Objective Question
10980059
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Which of the following statements are relevant with respect to Pearson's Product-Moment Correlation coefficient?

A. Both variables have come from the normally distributed population.
B. ry, is a non-parametric measure of the relationship.

C. It 1s known as the covariance of the two variables.
D. It is highly suitable to measure relationship of attributes like 'preferences' 'efficiency’ and 'intelligence’.

Choose the most appropriate answer from the options given below:

.Aand B only
.Band C only
.Aand C only
.C and D only
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Objective Question

110780060 \wrhich of the following statements are NOT true about regional distribution of Muslim population in India (2011 )?

A. Lakshadweep has the highest proportion of Muslim population.

B. Proportion of Muslim population in total population of West Bengal is higher than that in Assam.
C. The total population of Muslims in Kerala is higher than in Jammu and Kashmir.

D. Proportion of Muslim population in total population of Uttar Pradesh is higher than in West Bengal.
E. Punjab has the lowest proportion of Muslim population in comparison to other states of India.

Choose the correct answer from the options given below:

.A.B and C only
.B, C and D only
.B.D and E only
.C.D and E only

b =

L
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Objective Question

1780061 1 andforms formed by erosional activities:

A. Yardang and Stumps

B. Cirque and Barchan

C. Arete and Esker

D. Blow Hole and Seif dune
E. Structural bench and Col

Choose the correct answer from the options given below:

A and E only
.B and C only
.Cand D only
.Aand C only

ST Tiafateat grr i o srepfmi -
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Objective Question

11280062 \which of the following statements are correct ?

A. The gap between rural and urban quality of life is not much wide in India.
B. About 70 per cent of the population lives in villages in India.

C. Indian rural society is still semi-feudalistic.

D. Proportion of rural population is highest among states in Bihar.

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. A and D only
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Objective Question
11380063
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Which of the following statements are correct?

A. Griffith Taylor gave a classification of cities based on age.

B. Harris used pure statistical method of standard deviation for functional classification of cities.

C. Sector model of Hoyt was based on the study of spatial patterns of house rents in American cities.
D. Chandigarh was planned by Le Corbusier and Canberra by Walter Burley Griffin.

Choose the most appropriate answer from the options given below:

1. A.B and C only
2. A. Cand D only
3.B. Cand D only
4.B and D only
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Objective Question

114/80064) \rhich of the following facts are associated with photoperiod?

A. Longer the photoperiod the greater is the total possible insolation.

B. At poles day and night are always equal.

C. At poles the daily photoperiod reaches a maximum of 24 hours in summer and a minimum of zero hours in winter.
D. At poles the daily protoperiod reaches a maximum of 24 hours in winter and a minimum of zero hour in summer.

Choose the most appropriate answer from the options given below:

.Aand C only
A and B only
3.B and C only
4. C and D only

o =
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Objective Question

115 80065 wrpo among the following scholars strongly advocated the idea of possibilism?

A. Ratzel and Ritter

B. Brunhes and Sauer

C. Febvre and Blache

D. Sauer and Huntington
E. Semple and Ratzel

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. C and D only
4. C and E only
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Ao AR ReR
B. 5 iR IR

C. BaR AR Y
D. HIaR 3R gfere
E. ST 3R Yol

A feu e fasedi © 9 UEl SR &1 90 Sifort:
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A2

A3
Ad

4

4
Objective Question

116 80066y fatch List T with List IT

LISTI )I LISTII
(Warm Ocean Current)|(Meeting cold ocean current)
A [Brazil current I |Ovashio current
B. |Gulf stream II. |Falkland current
C. [Kuroshio current I1I. |Labrador current
D. |Agulhas current IV. [West wind drift

Choose the correct answer from the options given below:

. A-L B-II. C-IIL. D-IV
A-IIL B-IV, C-I. D-II
. A-IV. B-II. C-I1. D-I
A-IL B-IIIL. C-1. D-IV

=il 191 gHl 11 9 i e

[ SR

=

I 1I
A [Fed 4RI L |eirferm eamn
B. fier ©H 1. [Frecis g
C. [FRIRm R 11L [AsTS R 4RT
D [siTeem owT 1v. [oferd o faam
fafaRad fameul ¥ O 98t TR &1 90 HIfelt :

. A-L B-IL C-IIL. D-IV
AL B-IV. C-1. D-IT
. A-IV. B-1IIL C-I1. D-I
. A-IL B-III. C-L. D-IV

o =

Lo

Al

A2

A3

Aty
4

Objective Question
117 80067
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Mat,

ch List I with List IT

LISTI
(Terminology)

LISTII
(Related Aspects)

A. [Biogeochemical cyeles] I [Ecosvstem productivity
B. [Flow of Energy II. [Nutrient cycles

C. |Biomass 1. [Trophic Pvramid

D. [Food chain IV. [Law of Thermodynamicy

26_Live_Geo_B2_E_1-150.html

Choose the correct answer from the options given below:

| SN

[¥5)

=y

. A-IV. B-IL.C-1. D-III

AL B-IL C-IL D-IV
. A-IL B-IV. C-L. D-III
. A-L B-IIL. C-IV. D-IT

=1 11 gl 11 9 fieH Sifeie

T I
5 e
A [MAAREEHS 9| 1 [RRYIGS] 69 &1 3dedd]
B. [l &1 Uaig 1. [Uiyes ded osp
C. [oid 4R 1L [uiyes fuiies
D. [@re el V. | 31 Tt T (HaH
fraferRa faeal & 9 Het IR @1 =g Bifee :
1. A-IV, B-IL, C-I, D-III
2. A-IIL B-1, C-II, D-IV
3. A-IL, B-IV, C-L, D-III
4. AL B-IIL, C-IV, D-II
Al
1
A2
2
A
3
Ay
4

Objective Question

118 80068 » atch List I with List IT

LISTI LISTII
(Type of Industry) (Place)
A fute I. [Kullu
B. [Wool II. PMysore
C. [Silk II1 [Hisar
D. |Cotton IV. |Ongole

Choose the correct answer from the options given below:

bJ =

o

CA-IL B-IV. C-1. D-III
. A-IV. B-1. C-II. D-III
. A-IV. B-IIIL. C-I1. D-I
.A-IV. B-1. C-III. D-IT
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Objective Question

119 80069\ fatch List T with List IT

eIt 11 Gl 11 9 e iy
e 1 B UDR I (RIT)
A |2 L o
B. [& 1L [AR
C. R=EMH III. %i':li?
D. [gil % IV. |3
Fafafad fadedl & 9 981 SR &1 99 S -
1. AIL B-IV, C-1, D-III
2. AV, B-1, C-IL D-III
3. A-IV, B-IIL C-IL D-I
4. A-IV, B-1, C-IIL D-II
Al
1
A2
2
A3
3
Ay
4

26_Live_Geo_B2_E_1-150.html

LISTI
(Composition)

LISTII
(Plains)

. |A plain largely composed of recent alluvium

I |Outwash Plain

. [Deep Sea plamn

II. [Loess Plain

. |A plain formed by wind action

I11. [Flood Plain

dlo|=|E=

. |A plain formed due to deposition of glacial sediments]

IV [Abyasal plain

Rell

AL B-IV, C-I1. D-I
AT BAIIL C-IV. D-I
.A-L B-IV. C-II. D-III

A-IV. B-II. C-III. D-I

[ SN

o

151 gl 11 ¥ e iy

Choose the correct answer from the options given below:

T 1 (e

el G )

. [FEn T forgs sifeiard: 9dH wiaie gl e |

22

RaT eid e

[Ted 9FRIg 96 |

1L

cTITH e

7o fopd g1 FifEd B |

oL

I Fd el

olofw|=

et 2faarGl & S| 8 591 HeH |

V.

EEEREE]

Al

file:///C:/Users/Administrator/Downloads/26_Live_Geo_B2_E/26_Live_Geo_B2_E_1-150.html

. A-IIL B-IV, C-II, D-I
. A-IL B-IIL. C-IV. D-I
.A-L B-IV. C-II. D-IIT
. A-IV. B-I1. C-III. D-I

R R

frafdRad fasedl O 9 98t IoR &1 9+ HIfol -
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12180071

A2
A3

A4

4

4

Objective Question

120 80070\ fatch List T with List IT

LISTI LISTII
(Weather parameter) (Instrument)
. [Duration of sun shine| I. |[Hygrograph

. |Atmospheric pressure| I1

[Pan Evaporimeter

. [Relative Humidity I1I.

Campbell-stokes recorder]

@] o] =] k=3

[Barometer

. [Evaporation IV

AL B-IV. C-II1. D-I
. A-IIL B-IV, C-I1. D-I
A-IIL B-IV, C-L. D-IT
. A-IV. B-IIIL, C-I1. D-I

L e

oy

=il 191 gHl 11 9 i ifee

Al

A2

A3

A4

A-IL B-IV, C-I1. D-I
AL B-IV. C-1. D-IT
CA-IV.B-IIIL C-I1. D-I

L

4

4

Objective Question

A1 Sk

@HT9H AFeTE) (ST
A |90 & YD1 i fafe] L EEW
B. [argHUSTIY ae1d 1L [0 SqURIHIER
C. [amifeid amsar 111 [(hrusa-weiae RhIe g
D. [amedig IV. [aRiee
fafdRad fasedl O T Ut IR &1 99 Hifed ;

1. A-I1. B-IV, C-III, D-I

26_Live_Geo_B2_E_1-150.html

Choose the correct answer from the options given below:
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Match List I with List IT

26_Live_Geo_B2_E_1-150.html

LISTI LISTII
(Sectors of Economy)| (Name of activity)
A, [Primary [. |Singing
B. |Secondary II. [Postal services
C. |Tertiary II1. Brick-making
D. |Quarternary IV. |Pearl culture

N

=y

| SN

[¥5)

. A-L B-II. C-III. D-IV
AL B-IIIL. C-IV. D-I
. A-IIL B-IV. C-L. D-II
cA-IV, B-I1L C-I1. D-I

11 gl 11 ¥ T Sifeig

Choose the correct answer from the options given below:

= 1 (SIASTaRIT & &)

A

EICIEES

HIEE]

T=1 11 (TSP aTaTy BT 1)
E

. [edia®

1L [STh-Ham

[qdig®

I [32-19Him

B
£
D

ERRE]

A CIGIREE]]

Al

A2

A3

A4

[ SN

o

. A-L B-II. C-III. D-IV
AL B-IIL. C-IV. D-I
. A-IIL B-IV., C-I. D-IT
cA-IV, B-11I. C-I1. D-I

4

4

Objective Question

122 80072 \fatch List T with List IT

frrafaRad faseal & 9 et SR o1 9 B -

LISTI
(Author)

LISTII
(Book Title)

. |P. Knox and S. Pinch

. |The Cultural Landscape: An Introduction to Human Geography

. [Emrys Jones and John Eyleg| I

Social Geography

A, Ahmad

Urban Social Geography: An Introduction

o|a|w]>

. .M. Rubenstein

" |An Introduction to Social Geography

[ SR

W

. A-L B-II, C-IIL. D-IV
AL B-IIIL C-IV. D-I
. A-IIL B-IV. C-I1. D-I
. A-IV. B-ITIL, C-1. D-IT

Choose the correct answer from the options given below:
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12380073
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eIt 11 G 1 Y e Biforg
el 1 (@E®) T 11 (T8 6) ;-‘I
A [0 91 AR TE. T I & deoRd GS%hy : U 3080 ¢ B4H U
B. [TH{ WG 3R S g 11 [Hi=re s
C. [v 3ETe 11, [37& TR WS : U 3</S R
D [9. T 3e=1eA IV. 09 $<Sd8F ¢ 9= b |
fafead fawedl O I Wel IR &1 99+ BIf ;
1. A-L B-IL, C-IIL D-IV
2. A1, B-I11, C-1V, D-1
3. AL B-IV, C-II, D-1
4. A-IV, B-IIL C-I. D-II
Al
1
A2 2
2
A3
3
Ay
4

Objective Question

Match List I with List IT

LISTI LISTII
(States) (Change in effective Literary Rate, 2001-2011)
A [Kerala I |16.8
B. Mizoram 1L [14.6
C. [Himachal Pradesh| I1I. |3.8
D. [Bihar Jiv. |50

Choose the correct answer from the options given below:

. A-L B-II, C-IV, D-III
A-IL B-IL C-III. D-IV
CA-IV. B-IIL C-I1. D-I

A-IIL B-II. C-L. D-IV

; IIWWH@WW
Sk LSl
R

I
(THT TR X & uadH, 2001-2011)
GERLY I [168
GEES IL [14.6
EEEEEEEI Fiil eXs
ERE v. .o

FafRad [deel I 3 981 3R &1 98- Il -

[ SN

[#)

=y

ofof=]>

. A-L B-IL. C-IV. D-III
AL B-I. C-IIL. D-IV
. A-IV. B-I1I. C-I1. D-I
A-IL B-II. C-L. D-IV

o =

o

Al 1
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12580075
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A2
A3

A4

4

4

Objective Question

124 80074 \fatch List T with List IT

26_Live_Geo_B2_E_1-150.html

LISTI LISTII
(Books) (Authors)
A [Hundred Years of Geography 1. |G. Taylor
B. |[Influences of Geographic Environment| II. |[TW. Freeman
C. |Geography in the Twentieth Century | III |E.C. Semple
D. Man and Nature IV. |G.P. Marsh

Choose the correct answer from the options given below:

n

A-IL B-III. C-1. D-IV
. A-IIL B-I1. C-IV. D-I
. A-L B-IV. C-IIL. D-II
. A-IV. B-1. C-II. D-IIT

151 gl 11 ¥ e S

L e

oy

o

Fow

A

_[£S3 2049 St iuThl

Sif. 2T

B

_ [FRIEE A R U-aRRH

_[€1. S=g. wiEH|

G

[T 541 G cawel Heil

1[5, 4t orga

D.

9 TU8 4aX

S Ot Al

fafcRad fadweul § 9 98t TR &1 98- DIl :

Al

A2

A3

A4

. A-IL B-III. C-L. D-IV
A-IL B-I1. C-IV, D-I
. A-L B-IV. C-III. D-IT
. A-IV. B-1. C-II. D-IIT

o =

L

4

4

Objective Question
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Match List I with List IT

26_Live_Geo_B2_E_1-150.html

LISTI

(Elements of Visual Image

(Feature Identification)

LISTII

A [Tone I |to distinguish zones of land use
B. [Size I1. |land cover and land use

C. |Shape I1I. |orchards

D. [Pattern IV. meander belts

N

=y

| SN

[¥5)

. A-IV. B-1. C-II. D-IIT
. A-L B-IV. C-III. D-II
. A-IIL B-IL. C-L. D-IV
A-IL B-I1. C-IV, D-III

11 gl 11 ¥ e Sifeg

Choose the correct answer from the options given below:

(ﬁg&magwll%sam

(T&I0T B =)

T I

A

SITHT ()

I

T JUTIT & SH] Bl He]-HeT B3]

HIPR

1L

-3 3R Y UGN

ECiE

111 (€]l

B
C
D

[Iided (UeH)

V.

[ agt

Al

A2

A3

A4

126 80076

o =

e

B

. A-IV. B-1. C-II. D-III
. A-L B-IV., C-III. D-IT
A-IL B-I1. C-1. D-IV
. A-IL B-I. C-IV. D-III

4

4

Objective Question

A, 30-50

B.X to55
C.30to X
D.10to X

Nowp

W W N w
s 00
O dg

frequency of their classes.

frafafed famedl 3 ¥ wet SR 31987 I :

The Mean ( X ) of given normally distributed scores is 40. Arrange the following score intervals in ascending order on the basis of

Choose the correct answer from the options given below:
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fepel fou TTu e f9afa WIdissl ST H1e (X ) =40 ® | SUH WIKid a7l &1 SRERAT & YR &R
IRIg A & gafeyd & |

A.30-50

B.X US55

C.308 X

D.109 X

i 3T T faedl § 9 981 O 31 99 Bifoig:

Fo o

T IREd Wi JieRTal @f

nowp

W W O w
F oo

B
(wit o lw)

4

4
Objective Question
127180077/ \Wrhich among the following is the correct sequence of the stages through which a new boundary under most conditions is determined ?
A Allocation
B. Delimitation

C. Maintenance
D. Demarcation

Choose the correct answer from the options given below:

2 -

Lo

A feu 7T famedl § 9 98l SR &1 99 Bifelu:

pae

nwwpe

B~

P g
WO o w
Onen
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A2

A3

Aty

4

Objective Question
128/ 80078 Arrange the following in chronological order.
A. Conference of Parties (CoP-21)
B. Earth Summit
C. World Summit on Sustainable Development
D. Montreal Protocol

Choose the correct answer from the options given below:

B
Woow
Nwwo
Sopo
B0

AR 31 T8l Srawd 439 |

A. BTH= 3P TS (CoP-21)
B. gl gHe

C. gad [dpr W= 9y g
D. Hiciad Wicidra

Hi AU T faedi § 9 el G- 31 98 Bifeig:

w0 D
owwo

o
Dapn
> 0w

Al

A2

A3

Ay
4

Objective Question
12980079
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Ag per the Census of India 2011, arrange the following states in ascending order of sex ratio (minimum to maximum).
A. Uttar Pradesh
B. Maharaghtra

C. Karnataka
D. Himachal Pradesh

Choose the correct answer from the options given below:

g

e
)
SEeX
w0
e g

3.C.
4.D,A,C,B
HRA B1 2011 S FHIUET & 3HR MU & 31YR R FEfeigd Iodi ®f 3RIg! 6 (A9 I ifdddy) 5 |

A, FTRUSE

B. TERIY
C.FAleP

D. fEa=a vew
Hid feu U fadedi T 9 Tl 3R &1 90 DI

1.AB.C.D
2B.C.D A
3C.D.B.A
4D ACB
Al
1
A2,
2
A3
3
Aty
4

Objective Question
130180080 Asrrange the following according to inereasing wave length.
A Infrared
B. Ultraviolet
C. Microwave
D. Gamma

Choose the correct answer from the options given below:

mernd
s own
N

B
Dopw
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FefREd &1 T S & ged A A TG |

AL AR
B RIS

C. HI5shiad

D. T
Hi ST T fa el § 9 98l GTR BT 90 Bifelg:

W
Cno®
WO
> Owon
0w

Al
A2
A3

Ay

4

Objective Question

13180081 Arrange the following seas in ascending order of concentration of salinity (minimum to maximum)

A.Red Sea

B. China Sea
C. Baltic Sea
D. Black Sea

Choose the correct answer from the options given below:

NEB»
Uonw
4 WHFRWO
=g g

o

INIEEG!

o

TRI I AGUIAT DI FHEUA D YR R HRII HH (AdH H Hepd) H oalRid o |

e R S

RSIGESIRIFS
B. 9 OMR
C. glfet® IR
D. BTl IR

4 feu e fow el # 9 w6l IR @1 =99 DI

P MRl
oo
Doo0w
W w0
Pl el

Al

A2
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A3

Ay

4

Objective Question

132/80082 Arrange the following elements of hill slope in correct sequence from top to bottom.

A. Waxing slope
B. Wanning slope
C. Debris slope
D. Free face

Choose the correct answer from the options given below:

>

e o o =
oy g
SESCEe
> 000
WO ww

ISt 31 & ddl @l SR A 4E il IR TS HHE T |

A. FEAA BT
B. &figH0 g
C. HEa gaH
D. o SIUUAT

A feu T fomed § 9 981 SR &1 99 Sifuiu:

IJ!—‘
0w B
OP U
FNNo
WD W

o

Al
A2
A3

Ay

4

Objective Question
13380083
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Arrange the following states of India in ascending order with respect to density of population as per 2011 Census.
A. Rajasthan
B. Odisha

C. Kerala
D. Uttar Pradesh

Choose the correct answer from the options given below:

1.A.B,D,C
2.B.A.C.D
3.C.D.B.A
4.B.C.D,A
2011 B SFHIUFET & HFHR YR & HE{eRad Il & §-He v-d i 2P ¥ SRIgI pH I |
A R
B. JHifS=m
C.

D. SR WX
Hid feu U fadedi T 9 Tl 3R &1 90 DI

1.AB.D.C
2B.ACD
3C.D.B.A
4 B.C.D A
Al
1
A2,
2
A3
3
Aty
4

Objective Question

134/80084 Asrrange the following social-ecological movements in correct chronological order.
A. Aarey Movement, Mumbai
B. Chipko Movement

C. Narmada Bachao Andholan
D. Jungle Bachao Andholan

Choose the correct answer from the options given below:

1.A.B.C,D
2.B.D,C.A
3.B.C.D.A
4.D.C.B.A
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fFE=feRad g gk RUfde T siicial & 9el ®iasd H oadiedd &1 |
A 3R SHigIeH, gag
B. fauet sigraq

C. FHeT gEs sfigaa
D. SHTS Sd137 3figia

- fag e fam el & § Hel SR &1 90 S

1.LAB.C.D
2.B.D.C.A
3I.B.C.D A
4. D.C.B.A
Al
1
A2,
2
A3 5
3
Aty
4

Objective Question

13580085 \which among the following is the correct chronological order of Greek scholars ?
A Eratosthenes
B. Posidonius

C. Hecatasus
D. Hipparchus

Choose the correct answer from the options given below:

b =
@O p 0
SR
>
[oNoNaN:!

L

et = 9 oF 1 g g @1 98 Fraea g 2

A, TERHS
B. Uifgsi—ug
c. fEofcayg
D. feurR=g

A feu 7T fomedl § 9 98l SR &1 994 Bt

plde
oNoNaN

SESCRS
> w

B
RS

Al

A2
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137 80087
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A3
Ay

4

Objective Question

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R:

Assertion (A) : With global warming, organisms that were formally restricted to warmer regions will become more common towards the
poles.

Reason (R) : Geographic distribution of organisms could not be significantly altered by climate change.

In the light of the above statements choose the most appropriate answer from the options given below

. Both A and R are correct and R is the correct explanation of A
.Both A and R are correct but R is not the correct explanation of A
. A is correct but R is not correct

. A is not correct but R is correct

2 <1 P fAU T §: U HDHUT (Assertion A) & w9 H [AIRad 3 1 g3 39 HRUI (Reason R) & I T:
YT A : YHSI A9 . 5l Sig ggal 7TH Fe=il o Hied 4 3 ydl $1 SR it qmr g s |
HRUIR : ST@dTg IRkad 9 siai & Himiferas faazo & Agayul seara Tol gl ¢ |

SWRIT B & e 1, - [$U T fadedl # 3 9ad Iugad SR D1 997 Bl |

b2 =

Y]

CATYTR 3HI TSI € GUTR. ADI el e ©

. ATYTR M1 981 €, AfPTR. A Hel sqr T el ©
AR AMPTR TR TR

AT TSR TR

b2 =

W

Al

A2

A3

Ay

4

Objective Question

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A) : Christaller developed network of hexagonal complementary areas in central place theory.
Reason (R) : The circular complementary areas were having gaps and overlaps.

In the light of the above statements. choose the correct answer from the options given below:

.Both A and R are true and R is the correct explanation of A
.Both A and R are true but R is NOT the correct explanation of A
A is true but R is false

. A is false but R is true.

o -

o
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2 < YA AU T T TP HIDHYT (Assertion A) & =9 H IRad 3 1 TIRT TP HRUI (Reason R) H T T:
BUT A : g = R B R 3 veysha e a7 fAffa feud |

PRUR : MADR TIRP &1 H SART SR AT o |

SWRIT HY & Sl 1, i [T T fadbedl § 3 968 I9ge SR D1 997 Bl |
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Objective Question

138 80088 iven below are two statements:
Statement I: The sea waves of seismic origin in general. behave like long gravitational wave.
Statement IT : The sea waves of shorter length will reach their maximum height fast, whereas a longer wave will take a long time.
In the light of the above statements. choose the meost appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect
4, Statement I is incorrect but statement II is correct

i3 G Py e e

B 1 : GH Y Y Yo T I €1 areil Sl aedl 41d o il & THH SHTER0] HRal g |

HUF 11 : Y SaTg aTelt s Nl il & S SIS aH $als IR Ugd il ¢ e 4rg aeil ol SHed S8g i |
SWRIT DY B el H, - [§U T fddbeul § 4 968 Iugad IR DI 99+ Bieig:

B 1 IR I el §
PYT I AR IS Tad §
YIS . AT Y TEd ©
YA 17T 8, At YT I Hel §
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Given below are two statements:

Statement I: Highest concentration of scheduled caste population is in the Satluj-Ganga plains of India.
Statement II : In terms of absolute number Christians are most numerous in Kerala state of India.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4, Statement I 1is false but Statement I is true

TRasEfRume:

B 1 : ST Sl BT I Y501 URd & Faqel-TM & Bl A ¢ |
FUF 11 : FRUe T & Jeu O STl o Jaiiis T YRd & Ra AT 4 ¢ |
SIS FYF & 3faid 1, A1 3 T fddwedi O T T81 IR &1 999 Piforg:
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Objective Question

140 80090 Given below are two statements:
Statement I : Icebergs are not common along the Norwegian coast.
Statement IT: Icebergs are very common along the Siberian coast.
In the light of the above statements choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

e wyEfeumue:

BYTI: A4 & Tl del & a1y Iy fRaRe A S € |

BUF 11 : ARERAT & T del & I feAfRrasil o1 611 9gd ol 9H 6 |
SR DU & SlD |, AAd [GU Y fdbedi § 3 9! 3R &I 98- DIl

HUFI AR IS TT§
DY RIS ST T

b =
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Objective Question

Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per km. extending to the tropopause. This vertical
gradient of temperature is commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increas:
in temperature with an increase in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best in calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
flow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions an
frequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites. (3) When two air masses with different temperature characteristics come together. the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts, and the inverted
lapse rate which results is a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form a
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
creates an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the uppe
portion than at its base. Inversions of this type may develop at considerable altitudes.

Permanent snow caps on high mountains even in the tropies is due to

. Drainage inversion

. Radiation inversion

. Subsidence inversion
. Normal lapse rate

[ SR

S
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fafepRunete fiae & PRUT chHUI (fafeR0T gepHuN) Td a1y, W3 PR B & T FHad YU R Faiay [dpRid sid g |
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per km. extending to the tropopause. This vertical
gradient of temperature is commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increas:
in temperature with an increase in altitude, that 1s, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter, it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best in calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tlow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions ar
frequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites. (3) When two air masses with different temperature characteristics come together. the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts, and the inverted
lapse rate which results is a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form a
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
creates an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the uppe:
portion than at its base. Inversions of this type may develop at considerable altitudes.

The preferred orchard sites in the middle latitudes are

. valley bottoms

. Ridge-side gentle slopes
3. steep slopes

4, fertile valley plains

f&w QT B eargde ufgu Ue FafiEd uRE & g IR |

TS H SR B dv® &4 G% d10H & $H oF B 3119 &2 THA 6° ¢ id fardier § | 999 &t 59 FHealtR Yaurd
B GG I T X $el oIl § |

e aflvmusd o Sidyg Uishart e & 91 diuaH ¥ arkiide i Sl o, 98 5. dTIHH BT gepul | d9HE ogehHul uid
RIP! T I B TPl § |
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Objective Question

Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per km, extending to the tropopause. This vertical
gradient of temperature is commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increas:
in temperature with an increase in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best in calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
flow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions an
frequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites. (3) When two air masses with different temperature characteristics come together. the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts, and the inverted
lapse rate which results is a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form a
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
creates an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the uppe
portion than at its base. Inversions of this type may develop at considerable altitudes.

Which one of the following is not confined to lower parts of the troposphere?

. Radiation inversion and fog

Air drainage inversion and clouds

. Frontal inversion and subsidence inversion
. Advection inversion and frontal inversion

ko =

FE VS
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3 0 Tl &1 enYaes ufeu U FERiiad U= &1 3R Sior |

&MATEd § SR 3 B HUAH a% d98H & $H 811 B 319d X @14 6° ¢ ufd feandie § | aroaE 31 59 3taieR Uaurd
DI GG T 5T & Pel Wil § |

e e ® Sfayg wisharn S & 91y TuaE ¥ aRalde gia Rl 6. 96 5. ATIHH BT gepHv | T9HH ogehHu dig
WPl Y ITAET TP @ |

(1) &a el 1 qae Soll IHIRIRUI & (! YehHI GRT WG 51 1 gaT 4 [a1eR01 gR1 ST P 81 31U Bl g, ofd Tdh
TG I H 1 2t Bq § S &M IR, I8 3US! BIdl 9ildl ¢ Ul TRUTHIGRY i a1g o1 URd DI dTqHH $H P 1§ |
fafepRunete fiae & PRUT chHUI (fafeR0T gepHuN) Td a1y, W3 PR B & T FHad YU R Faiay [dpRid sid g |

(2) oUS! YT ue arg Fik-Rra=l aur erel 3 o & Iy i @ 3R varied siex urel dagiedl § usfid gidl 6.98 uiel a9 &
TR Gad a1 § Sg@n v G &X ST Pl © | a7 SUdTe b HUT U Te &I & 69 Bq & UTall § $aid 8id 5. Td g9l
PR BT ITED BATH-RIT §q UIel dasiedl Bt aud T g1dl Bl i aa @ |

(3) & e arom fa=ivarsdf areft & argIiRrat simog o fierd € ad sUs! arg $fde g+ & PR TH ag @ Ak 3 Ydhed g 8%
gt ol § | 3l arg ARl & e i &3 @ a1 $ed 6. aUl Fehiid 51 &3 Bekaey aIdid oJchdUl Bidl & | ardrd
P &YHUST B (el URdl ao AT Tei 6/ 6| d S &I H ofd 1 5081 arg T arg & 1 Uae a1 76 arg &1 381 Y
P SR M g J AT eI F5a § |

(4) TH a1 & BUS RITA W 3Hfiae 3 arg I 31 Frereht wRal & agepavr FHffa giar 8 wgifes wf arg Jara gR1 vt B ® |
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Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per km. extending to the tropopause. This vertical
gradient of temperature is commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increas:
in temperature with an increase in altitude, that 1s, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter, it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best in calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
tlow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions ar
frequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites. (3) When two air masses with different temperature characteristics come together. the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts, and the inverted
lapse rate which results is a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form a
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
creates an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the uppe:
portion than at its base. Inversions of this type may develop at considerable altitudes.

Which one of the following is NOT an ideal condition for radiation inversion?

. Short nights
. Clear skies
. Flat terrain

. Calm air
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Objective Question

Read the given paragraph carefully and answer the following question.

The average rate of temperature decrease upward in the troposphere is about 6°C per km, extending to the tropopause. This vertical
gradient of temperature is commonly referred to as normal lapse rate. Certain processes in the lower troposphere create an actual increas:
in temperature with an increase in altitude, that is, a temperature inversion. Temperature inversions may be produced in five ways (1)
When the earth's surface loses more heat by radiation than it gains by any of the energy transfer processes. as on a clear night or at high
latitudes in winter. it cools and consequently lowers the temperature of the adjacent layer of air. Inversions due to radiational cooling
(radiation inversions) develop best in calm air under clear skies over flat terrain.  (2) Cold and dense air from hilltops and slopes tends to
flow downslope to collect in valley bottoms. creating an inverted lapse rate in the free air over the valley floor. Air drainage inversions an
frequently associated with spring frosts in middle latitudes, and for this reason fruit growers prefer gentle slopes to valley bottoms for
orchard sites. (3) When two air masses with different temperature characteristics come together. the colder air, being more dense. tends to
push underneath the warmer air and replace it. The boundary zones along which two air masses meet are called fronts, and the inverted
lapse rate which results is a frontal inversion. Frontal inversions are not confined to the lower layers of the troposphere. They may form a
upper levels wherever cold air underruns warm air or warm air advances above cold air. (4) Advection of warm air over a cold surface
creates an inversion in the lower layers of the air mass as the warm air is cooled by conduction. (5) The subsidence inversion forms in an
air mass when a large body of air subsides and spreads out above a lower layer. In the process the air heats dynamically more in the uppe
portion than at its base. Inversions of this type may develop at considerable altitudes.

Which one of the following represents adveetional inversion ?

. Movement of cold air over a warm surface.
. Movement of warm air over a cold surface.
. Movement of dense cold air from hilltops.

. Coming together of contrasting air masses.
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&MATEd § SR 3 B HUAH a% d98H & $H 811 B 319d X @14 6° ¢ ufd feandie § | aroaE 31 59 3taieR Uaurd
DI GG T 5T & Pel Wil § |

e e ® Sfayg wisharn S & 91y TuaE ¥ aRalde gia Rl 6. 96 5. ATIHH BT gepHv | T9HH ogehHu dig
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In the given diagram regional consumption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.

C — Coal

R — Renewable

N — Nuclear energy
H — Hydroelectricity

In which one of the following regions, Hydroelectricity is not a source of energy?
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In the given diagram regional consumption pattern of energy from various sources is represented.
Angwer the following question on the basis of the diagram.
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In which one of the region nuclear energy consumption is more than the renewable energy?

. Asia Pacific

. Middle East
Africa

. North America
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In the given diagram regional consumption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.
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In which of the two regions, the consumption of coal is less than hydroelectricity?

. Europe and Africa

. Europe and North America

. Middle East and Asia Pacific
. Europe and Asia Pacific
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. South America
. North America
. Middle East
. Asia Pacific
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In the given diagram regional consumption pattern of energy from various sources is represented.
Angwer the following question on the basis of the diagram.

C —Coal

R — Renewable

N — Nuclear encrgy
H — Hvdroelectricity

In which region. the combined consumption of renewables and nuclear energy is lowest?
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In the given diagram regional consumption pattern of energy from various sources is represented.
Answer the following question on the basis of the diagram.
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In which region the combined consumption of renewables and hydroelectricity is highest ?

. Africa

. North America

Asia Pacific

. Europe
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